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NOTE: This paper contains FIFTY (50) multiple-choice / Assertion & Reasoning/ .

Matching questions, each question carrying two (02) marks. Attempt

ALL the questions.
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Which of the following statements
18 not true in relation to the office
of Governor?

 (A) shall hold office during

pleasure of the President

(B) shall always act on the advice
of the Council of Ministers

(C) shall address his resignation
to the President

(D} shall hold office for a term of
five years.

Acts placed in the Schedule IX of
the Constitution of India would be
open to challenge on the ground
that they destroy or damage the
basic structure of the constitution.
It was 80 held in

(A) Golaknath V. Punjab
(B) Waman Rao V. G.O.L

() Keshavanapda V. Kerala
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3.

o

A state government pursuing anti-
secular policies is liable to action
under Article 356 of the
constitution. It was so held in ___
(A) Rajasthan'V. G.O.1

(B) AK Roy V. G.O.L

(C) S.R. Bommai V. G.O.L

(D) Ismail Faroogui V. G.O.1

A judge of the High Court is

administered oath of office by

(A) The Chief Justice of the High
Court

(B) The Governor of the State

(C) The President of India

(D) The Chief Justice of India

The word 'Secular' was added to the
Preamble by

(A) 24th Amendment

(B).-46th Amendment

(C) 44th Amendment

D) 42nd Amendment

The shaping of THrective Principles
of State Policy in the Indian
Constitution were inspired from
(A) Irish Constitution

(B) American Constitution

(C) Russian Constitution

} Canadian Constitution

The Quorum of each House of
Parliament is fixed at
total membership

(A) one-third

(B) two-third

(C) three-fourth

(D) one-tenth
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"The movement of progressive
societies has hiterto been. a
movement from status to contract".
This observation was made by

(A) Maine
(B) Savigny
(C) Friedman
(D) Bentham

a High Court 1s

(A) On other judges

(B) On all the lower courts of the
state

(C) On other High Courts

(D) On the lower courts of all the
states.

Which of the following

combinations ? :

(1) Bentham and Historical School

(2) Austin and natural law

3)
jurisprudence

(4) Henry Main and Hi

- achool

Select the correct answer using the

code given below :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (3) and (4) only

D) (1), (2) and (3)

The correiative of imm

(A) Disability

(B) Power

(C) Liability

(D) Liberty

munity 1s
1%
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12.

13.

14.

15.

Who defined jurisprudence as the
scientific synthesis of the essential
principles of law ?

(A) Prof. C.K. Allen

(B) Holland

(C) Gray

(D) Maine

Which one of the following
statements is correet 7
Grundnorm is the basic hypothesis
of

(A) Pound

(B) Salmond

(© Gray

(D) Kelsen

According to Salmond, which
theory of punishment is in itself
not a remedy for the mischief of the
offence but an aggravation of it and
it invites pain and suffering and is
offensive to the considerations of
the humanity ?

(A) Deterrent

(B) Preventive -

(C) Expiatory

(D) Retributive

Which Article in the Constitution of
India provides fundamental right to
form associations and trade unions
(A) Article 19(1) (d)

- (B) Article 19(3) (©

(C) Article 19Q1) (a)
(D) Article 19(1) (b)
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16.

17.

18.

19.

Political fund under the Trade
Unions Act, 1926 is

{A) Collected separately

®) A separate fund

(C) For civil and political purpose
(D) All the above.

Within how many days appeal from
the order passed by the Registrar
against irade union, can be made
(A) 30 days
(B) 60 days
(C) 90 days
(D) 100 days

Under Industrial Disputes Act,

1947, 'Lay-off' means

(A) Termination of the workman
from the employment

AT CHINL 184w cmylu_y

(B} Permanent closing down of a

ARIRAAT 14N ALl

place of employment

(C) The failure, refusal or inability
of an employer to give
employment to a workman

i~k

Temporary closing of a place o
employment.

_~
—

Under S. 25-FFA of the Industrial
Disputes Act, 1947 employer shall
serve notice before the intended
closure is to become effective. How
many days notice is to be given?
A) 10

(M) 20

\iF) Livs

(©) 60
D) 90
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20.

22.

23.

The Judgement in the leading case -

of Bangalore Water Supply and
Severage Board V. Rajappa was
delivered by Chief Justice

. (A) dustice Y.B. Chandrachud

(B) Justice Subba Rao
(C) dJustice AM. Ahmadi
(D) None of the above.

The ruie of last comes first goes
applies to

(A) Retreachment

(B) Lockout

(C) Lay-off

(D) None of the above.

The object of the law of contract is

(A) to enforce agreements of all
kinds, whether social or
commercial

(B) To enforce engagements made
with the intention to contract

(C) To enforce fair transactions of
business between merchants

(D) None of the above.

An offer is

(A) only a declaration of intention

(B) only a proposal

(C) an invitation

(D) a willingness to do or abstain
from doing something with a
view to obtain assent of the
addressee.

Law P-II

R, SURAL SRAEIL §eloevvonn. D

Ro, AR AR WU DL YRy oL

@ 2l Ageastl 3EEL iR
W el .., gl s

A) ayd ol 2isayg

B) areyd yoouua

(©) ~wd s, 3, wgudl

D) &R WL Sifug el

3, Bl d el s A s S awsy

WA

(A) swa

B) awsu-oikl

©) wesll

D) GuR AL S8 gl

-

(A) QUM NSRAL ABULYS K2,
Wl el e
(B) s s Sl srauml
» DUAC, AL, VHE,
(C) QWRL 4R LA sqAgIRL
e :
D) Gur sl sidwel Al

. MRl A

(A) S2ewdl s oqgrid

(B) WAL EVURA

(©) wpi

(D) 2ol 2l Aenaa goul
58 53U Y $8 sl L2 W
aioitl Sast



24. A agrees to sell his house worth Rs.

25.

26.

27.

5 lakhs for Rs. 50,000.
agreement is

(A) Void

(B) Valid contract

(C) Voidable contract

(D) Valid at the option of 'A’

The

Which of the following will make an

s s e o

agreement void ?

(A) Mistake of one of the parties
(B) Mistake of law

(C) Mistake of foreign law

(D) Mistake of fact by both the
parties.

The decision in Mochni Bibi V.

Dharman Das Ghosh related to
\‘A\ n#er and 1ta nnmmiimiands e

(B) Acceptance ]
communication

(C) Undue influence

(D) Capacity of a minor to enter
inte a contract

Exemplary damages is related to

(A) Damages awarded to set an
example

(B) Damages for loss arising in
special circumstances

(C) Damages fixed by the court in
ordinary circumstances

(D) None of the abave.
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28.

30.

32.

Law P-II

In case of anticipatory breach of

contract, an aggrieved party

(A) Cannot claim any remedy as
performance is still executory

(B) May wait till the date of
performance

} (C) Does not have the right to

terminate the contract
(D) Has the right to claim
- performance at any time later.

. The test of reasonable foresight is

applicable in the case of
(A) Negligence

(B) Defamation

(C) Vicarious Liability
(D) Damages

'Res Ipsa Loquitur' means

(A) Residing in the land without
knowledge

(B) Consent of the person

{€) Pamage to the legal right

(D) The thing speaks itself

. The rule of strict liability was

formulated by House of Lords in
(A) Donoghue V. Stevenson

(B) M.C. Mehta V.U.QO.I

(C) Rylands V. Fletcher

(D) Asbhy V. White -

The principle of 'absolute liability'

(A) Is to impose no responsibility
on the owner or occupier of
land :

(B) Provides all defences

(C) Imposes complete
responsibility on owner of a
hazardous industry

(D) Provides no defence
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33. Constitutional tort is

(A) another form of vicarious
liability

(B) new principle of strict liability

(C) imposes liability on the state
by payment of compensation
for violation of fundamental
rights

- (D) New tort propounded by House

of Lords in 1983.

The damages are unliquidated in
the case of

(A) Tort

(B) Contract

(C) Crime

(D) Public wrong

34.

35. A master is liable for the act of
(A) his student

(B) servant

(C) independent contractor

(D) none of the above.

'A' a police officer tortuers "z" in
order to induce 'Z' to confess that he
committed a crime. 'A'is guilty of
an offence under the section

(A) 329

B) 330

C) 334

(D) 320

37. The following is a continuing
offence
~ (A) Kidnapping
(B) Abduction
(C) Rape
(D) Murder
Law P-II
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38. Section 498-A of the IPC is in  3¢. srdla s adlanll sauree A

relation to :
(A) Dowry Death

(B) Rape

(C) Kidnapping

(D) Adultery.

. The following case was
instrumental in initiating reforms
in the law of sexual harassment at
workplace

(A) Visakha

(B) Tukaram

(C) Rudal Shah

(D) Chandrima Dal

. The principle of 'transfer of malice’
is incorporated in the Indian Penal
Code in section

(Ay 299

(B) 300

(© 301

D) 304

. For the first time authoritatively
the sources of international law
were formuiated by

(A) Covenant of League of Nations
(B) Charter of the United Nations

(C) Statute of PCI1J
(D) Statute of ICJ

. The term 'international law' was
coined by to designate
what has been called "the law of
nations". '

(A) Holland

(B) Bentham

(C) Dicey

(D) Salmond
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43.

44.

45.

46.

'International law is a vanishing
point of jurisprudence' said by

(A) Wheaton

B) Oppenheim

(C) Holland

(D) Salmond

According to British practice,:

condition precedent to grant De

dure recognition is

(A) Reasonable assurance of
stability and permanence

(B) Government should command

the general support of the

population

(C) It should be able and wﬂlmg to
fulfil its international
obligations

(D) All the above.

A marriage between an unmarried
woman and a married man is

(A) Void

(B) Voidable

(C) Irregular

(D) Megal

When can Muslim wife remarry
after divorce?

(A) can remarry immediately

(B) shall have to wait till the
period of Iddat is over

shall have to wait for one vear
shali have to waii for six
months

©)
(D)

Law P-II
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47.

48.

49.

50.

Law P-II

Under the Hindu Marriage Act,

1955 which one of the following is

not an essential requirement of a

valid marriage ?

(A) Performance of Sapta Padi

(B) Consent of parents

(C) Consent of bride

(D) Bride and bridgroom should
not be within the degrees of
prohibited relationship

Under the Indian Divorce Act,
where the consent to marriage of
either party is vitiated, the
marriage is

(A) Void

(B) Voidable

(C) Valid

(D) Irregular

Which one of the following is not

available for a Muslim wife to seek

dissolution of marriage ?

(A) option of puberty

(B) impotency of husband

(C) husband's’ imputation of
unchastity of the wife

(D) cruelty of the husband

Cruelty under the Hindu Marriage
Act, 1955 means

(A) Physical cruelty only
(B) Mental cruelty

¥9.

€<,

(C) Physical and/or menial crueity -

(D) Inhuman behaviour.
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